

## Republic of the Philippines

# Department of Education

**Cordillera Administrative Region** 

# CONTRACT AGREEMENT

THIS AGREEMENT, made this \_\_\_\_\_\_\_, 2024 between:

**DEPARTMENT OF EDUCATION- CORDILLERA ADMINISTRATIVE REGION** (**DEPED- CAR**), a government agency duly organized and existing under the laws of the Republic of the Philippines with principal address *at* Wangal La Trinidad, Benguet represented herein by ESTELA P. LEON- CARIÑO EdD, CESO III, Director IV/ Regional Director referred to as the **"PROCURING ENTITY"** 

-And-

**PHILIPPINE RUN HUI TRADING CORP.** with a principal office address at 17 Lincoln Street, BRGY. Del Monte, Quenzon City represented by its proprietor, **RICHARD C. GONZALO**, herein referred to as the "**SUPPLIER**"

### WITNESSETH

WHEREAS, the Entity invited Bids for Certain goods and ancillary services, particularly "SUPPLY AND DELIVERY OF LEARNING TOOLS AND EQUIPMENT - SCIENCE AND MATHEMATICS EQUIPMENT (LTE-SME) FOR DEPED-CAR" and has accepted a Bid by the "SUPPLIER" for the supply of those goods and services in the sum of THREE MILLION ONE HUNDRED THIRTY THREE THOUSAND FORTY FIVE PESOS & 95/100 (PHP 3,133,045.95)

#### NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- 1. In this Agreement, words and expressions shall have the same meanings as are respectively as are respectively assigned to them in the Conditions of Contract hereinafter referred to;
- 2. The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read **SUPPLY AND DELIVERY OF LEARNING TOOLS AND EQUIPMENT SCIENCE AND MATHEMATICS EQUIPMENT (LTE-SME) FOR DEPED-CAR** and construed as integral part of this Agreement, *viz*:
  - Philippine Bidding Documents (PBDs);
    - i. Schedule of Requirements:
    - ii. Technical Specifications;
    - iii. General and Special Conditions of Contract; and
    - iv. Supplemental or Bid Bulletins, if any
  - Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;







Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g., Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- iii. Performance Security;
- iv. Notice of Award of Contract; and the Bidder's conforme thereto; and
- v. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.
- 3. The contract duration or completion period shall be within within Ninety (90) calendar days upon receipt of Notice to Proceed:
- 4. In consideration for the sumprifice million one hundred thirty Three thousand forty five pesos & 95/100 (Php 3,133,045.95)
- 5. or such other sums as may be ascertained, "**SUPPLIER**" agrees to provide the following goods and services in accordance with his/her/its Bid:

No.	Specification	Unit	Quantity	Unit price	Total
	Beaker, borosilicate, 100 mL	pc	2,830	₱65.00	₱183,950.00
	Beaker, Plastic 500 ML	рс	5	P121.00	<b>1</b> 605.00
	Beaker, borosilicate, 1000 ml	рс	360	₱176.50	₱63,540.00
4	Beaker, borosilicate, 500 mL	pc	2,600	₱117.20	₱304,720.00
5	Cork borer	pc	23	₱931.50	₱21,424.50
6	Flask. Volumetric, borosilicate 250 mL	pc	400	₱652.00	₱260,800.00
7	Glass Cover Slips. 100's/box	рс	360	₱279.40	₱100,584.00
8	Glass Slides 72's/box	pc	350	₱223.50	₱78,225.00
9	Musical Instrument (Miniature Guitar)	pc	300	₱1,769.50	₱530,850.00
10	Nichrome wire. 0.4, 100 ft	pc	88	₱1,397.00	₱122,936.00
11	Protractor, student type	рс	17,560	₱18.50	₱324,860.00
12	Rubber Stopper # 6 for Erlenmeyer Flask (narrow mouth) 250 mL, 2 holes	pc	400	₱9.20	₱3,680.00
13	Rubber Stopper # 6 for Erlenmeyer Flask (narrow mouth) 250 ml, 1 hole	pc	400	₱9.20	₱3,680.00
14	Ruler, Plastic, 12 inches/30 cm	рс	17,506	₱9.20	₱161,055.20

15	Set of Tools: Mechanical				
	Wire Cutter and Pliers. 6.5", 1 pair/set	pc	200	₱3,018.00	₱603,600.00
16	Triangular file	pc	397	₱465.75	₱184,902.75
17	Universal pH Paper. pH 0-14. 100 strips/pack	pc	80	₱158.20	₱12,656.00
18	pH Meter, hand held	pc	765	₱223.50	₱170,977.50
				Total	P3,133,045.9

6. The DepEd- CAR agrees to pay the above-mentioned sum upon full delivery of the above listed items.

IN WITNESS whereof, the parties thereto have caused this Agreement to be executed the day and year first before written.

ESTELA P. LEON CARIÑO

Regional Director DepEd-CAR Regional Office RICHARD C. GONZALO

Proprietor

WITNESSES:

JENNIFER P. ANDE End User

Supplier's Witness

FUNDS AVAILABLE:

ALLOTMENT AVAILABLE:

FREMALYN E. PACLOS

Accountant II

OIC-Head Accounting Unit Authorized Representative MARIANE & WANSO Administrative Officer V

$\mathbf{n}$	0	N	$\mathbf{F}$ .
		LV	1.

	AND	
بح	Ъ.	2000
X	ER	7
/.	INI	_
	SE	

田

ARIÑ	d-CAR
ON C	r, DepE
P. LE	Directo
ESTELA	Regional

ACT	ZNI	TWE	FD	CIV	IEN'	Г
AUI	JIN C	JWL	CU	LTIV	LCIV.	L

BEFORE ME, a Notar	y Public for and in QUEZON CITY	, Philippines,	this
 Sepy 012 2024	y Public for and in QUEZON CITY, 2022 personally appeared	1:	

Name	Proof of Identity		
ESTELA P. LEON-CARIÑO	TIN 147-466-799		
RICHARD C. GONZALO	501-498-319-000		

exhibited to me competent evidence of their identities written beside their names, known to me and to me known to be the same persons who executed the foregoing instrument and acknowledged to me that the same is their free act and voluntary deed.

This Contract consisting of four (4) pages including the page on which this acknowledgment is written, have been signed by the parties and their instrumental witnesses on each and every page hereof.

WITNESS MY HAND AND SEAL on the date and place first above written.

Doc. No Page No.

Book No.

Series of 2024.

ATTY. JOHNREY L. VILLABLAGON

Notary Public Until December 31, 2024 ADM. MATTER NO. NP-475 (2023-2024)

IBP No. 406966/01-08-24/OC PTR No. 5410002/01-08-24/QC

Roll No. 83492

MCLE VIII-0010756, Until 4-14-2028 52 Ilocos Sur St. Brgy. Ramon Magsaysay, QC